MODERN SCHOOL U.T-1V SYLLABUS

(2024-25)
CLASS XI
Subject Syllabus Marking Scheme
ENGLISH Comprehension passage (MCQ)
1*5=5 marks.
Poetry Extract (MCQ)
Comprehension passage 1*3=3marks
Article writing Grammar- 3 marks
Grammar (Tenses) Article writing - 4 marks
The Adventure Short questions - 2*3=6 marks
Father to Son Long question - 4 marks
PHYSICS Unit 8:Thermodynamics
Unit 9: Kinetic Theory of MCQ 1x5=5 marks
Gases A/R 1x2=2 marks
SA Type-1 Q2x3=6 marks
SA Type-2 Q3x1=3 marks
LA Type-1 Q5x1=5 marks
Case Based Q1x4=4 marks
Total 25 marks
CHEMISTRY CHAPTER - MCQ 1x5=5 marks
EQUILIBRIUM A/R 1x2=2 marks
SA Type-1 Q2x3=6 marks
SA Type-2 Q3x1=3 marks
LA Type-1 Q5x1=5 marks
Case Based Q1x4=4 marks
Total 25 marks
BIOLOGY Chapter no-12 MCQ 1x5=5 marks
Respiration in plants A/R 1x2=2 marks
SA Type-1 Q2x3=6 marks
SA Type-2 Q3x1=3 marks
[LA Type-1 Q5x1=5 marks
Case Based Q1x4=4 marks
Total 25 marks
PSYCHOLOGY Lesson- Human Memory McCQ- 1*6=6 marks
(levels of processing A/R = 1*1=1 mark
onwards) Case Study=  1*2=2 marks
Lesson-Thinking SA Type—1 Q.=2*2=4 marks
SA Type-ll Q. = 3*2=6 marks
LA Question= 1*6=6 marks
Total =25 marks




MATHS

CHAPTER-12 LIMITS &
DERIVATIVES
CHAPTER -14
PROBABILITY

MCQ- 1*5=5marks
A/R = 1*1=1 mark

Case Study= 4marks

SA Type—-1 Q.=2*2=4 marks
SA Type-ll Q. = 3*2=6 marks
LA Question= 1*5=

B.ST MCQ 1%6 = 6 MARKS
A/R  1*2 =2 Marks
SA TYPE 1 -3*1=
3Marks(case study)
SA TYPE 2 — 4* 2= 8 Marks
Unit 9. Internal Trade (Mail |y \ TVPE 1- 6*1=6 Marks(
order business deleted) with internal choice)
Unit 10. International Trade
(Scope deleted)
ACCOUNTANCY Ch-19:ADJUSTMENTS in MCQ 1*5=5 Marks
Preparation of Financial 3 marks *2Q= 6 Marks
Statements. 4 marks * 2 Q= 8 marks
Ch-20: Accounts from 6 Marks*1Q = 6 Marks
Incomplete Records (Single Internal choice is there in
Entry System) 3mark, 4mark and 6 Mark
questions.
A/R, case study based
questions.
ENTREPRENEURSHIP Unit -6 business MCQ 1M*5Q=5 MARKS

finance and
Arithmetic

Unit -7 Resources
mobilisation

SA type I 2M*3Q= 6 Marks
SA type II 3M*3Q=9 MARK
LA type SM*1Q= 5 mark
Internal choice is there in 2
mark,3 mark and 5

L.P

Lesson 8 - My SQL
commands

MCQ 1x5=5 marks
A/R 1x2=2 marks

SA type 2x3=6 marks
Output Based: 1x3=3 marks
Create Table: 2x1= 2 marks
SQL commands: 1x7 =7
marks

Total 25 marks




HISTORY

Lesson-Displacing Indigenous
People ( The Native Peoples
lose their land-onwards)
Lesson- Path to
Modernisation ( Upto
-AfterDefeat:Re-emerging as
a Global Economic Power)

+ Map work

MCQ - 1*8marks

A/R =1*1 =1 mark

SA Type - 2*3 =-6 marks

LA Question = 1* 6 =6 marks
Case study =

ECONOMICS

MICRO ECONOMICS
Chapter -10 Main market

Forms

STATISTICS

chapter 10- measure of

Correlation

Chapter 11- index number

MCQ - 1*4 = 4marks

A/R =1%2 =2 mark

SA Type - 3*3 =-9marks

LA Question = 1* 6 =6 marks
Case study = 1*4=4marks

POLITICAL SCIENCE

Three chapters of book -
Political Theory

Lesson - Citizenship
Lesson - Nationalism
Lesson - Secularism

MCQ - 1*8marks

A/R =1*1 =1 mark

SA Type - 2*3 =-6 marks

LA Question = 1* 6 =6 marks
Case study =4 marks

APPLIED MATHEMATICS

Chapter -13 Descriptive
Statistics

Chapter -15 Taxation
Chapter -16 Utility Bills

MCQ- 1*5=5marks
A/R = 1*1=1 mark
Case Study= 1*4=4marks
SA Type—-1 Q.=2*2=4 marks
SA Type-ll Q. = 3*2=6 marks

LA Question= 1*5=5 marks
HOME SCIENCE Chapter-11 Health and MCQ- 1*5=5 marks
wellness A/R= 1*1=1 mark
Chapter-13 Care and Case Study= 1*4=4 marks

maintenance of fabrics

SA Type-1 Q.=2*2=4 marks
SA Type-ll Q. = 3*2=6 marks
LA Question= 1*5=5 marks
Total marks = 25

PAINTING

Indian bronzes-natraj
Indo Islamic architecture-gol
gumbad,qutab minar

MCQ - 1*7marks

A/R =1*1=1 mark

SA Type - 2*3 =-6 marks

Sa type -3*2=6 marks

LA Question = 1* 5=Smarks




